Title: Sanitary Sewer Main Replacement at Various Locations in Antioch, CA (P.W. 632-2)

June 3, 2014 Office of the City Clerk, City Hall, Antioch, CA

Bids to be received by 2:00 p.m.

SCHEDULE OF BID PRICES

| Item No. | Unit | Quantity | Description | Unit Price | Extended Amount |
|-------------|------|----------|---|----------------|--------------------|
| 1. | LS | 1 | Mobilization, complete in place for the lump sum price | \$ 55,000.00\$ | 55,000.00 |
| 2. | LS | 1 | Water pollution control, complete in place for the lump sum price | \$ 2500.00\$ | 2500-00 |
| 3. | LS | 1 | Traffic control, complete in place for the lump sum price | \$ 10,000.00\$ | 10,000.00 |
| 4. | LF | 6,240 | New 8-inch vitrified clay sanitary sewer main, complete in place for the unit price per lineal foot | \$ \$ | |
| 5. | EA | 208 | New 4-inch vitrified clay sanitary sewer lateral, complete in place for the unit price per each | \$ 1,500.00 \$ | 312,000.00 |
| 6. | EA | 208 | New sanitary sewer lateral cleanout, complete in place for the unit price per each | \$.500.00\$ | 104,000.00 |
| 7. | EA | 6 | New vitrified clay rodding inlet, complete in place for the unit price per each | \$ 3500.00\$ | 21,000.00 |
| 8. | EA | 10 | New 48-inch sanitary sewer manhole, complete in place for the unit price per each | \$ 5,000-00\$ | 50,000.00 |
| 9. | EA | 5 | Removal of existing sanitary sewer manhole, complete in place for the unit price per each | \$ 1,000.00\$ | 5,000.00 |
| 10. | EA | 5 | Utility crossing modification, complete in place for the unit price per each | \$ 5,000.00\$ | 5,000.00 |
| 11. | LS | 1 | Thermoplastic Traffic Stripes, Pavement Markers and Pavement Markings, complete in place for the lump sum price | \$ 5,000.00\$ | 5,000,00 |
| | | | TOTAL BID PRICE | \$1,617,820.0 | 0 |

TOTAL BID PRICE: One Million Six hundred Seventeen thousand Eight hundred twenty (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

| NAME OF SUBCONTRACTOR | LICENSE NUMBER | LOCATION OF/ PLACE OF BUSINESS | TYPE & PERCENTAGE OF WORK |
|------------------------------------|-------------------|--|---------------------------|
| 1. Boyline | 809660 | 1635 Fourth Street Berkeley, CA 94710 | Sow cutting 0.5% |
| 2. Sierra traffic Markings, suc | 955317 | 9725 Del Road suite B Roseville, CA 95747 | Stripping |
| 3. MCK Services, Inc | 783116 | P.O. Box 5697 concord, CA 94524 | Paving, 10% |
| 4. | | | |
| 5. | | | |
| 6. | | | |
| 7. | | | |
| 8. | | | |
| 9. | | | |
| 10. | | | |
| 11. | | | |
| 12. | | | |
| 13. | | | |
| 14. | | | |
| 15. | о | | |

END LIST OF SUBCONTRACTORS

Title: Sanitary Sewer Main Replacement at Various Locations in Antioch, CA (P.W. 632-2) Bids to be received by 2:00 p.m. June 3, 2014 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

| Item No. | Unit | Quantity | Description | Unit Price | | | Extended Amount | |
|-------------|------|----------|---|------------|-----------|------|--------------------|--|
| 1. | LS | 1 | Mobilization, complete in place for the lump sum price | \$ | 85,000.00 | \$ 8 | 35,000.00 | |
| 2. | LS | 1 | Water pollution control, complete in place for the lump sum price | \$ | 6,000.00 | \$ | 6,000.00 | |
| 3. | LS | 1 | Traffic control, complete in place for the lump sum price | \$ | 81,000.00 | \$ | 81,000.00 | |
| 4. | LF | 6,240 | New 8-inch vitrified clay sanitary sewer main, complete in place for the unit price per lineal foot | \$ | 130.00 | \$ 8 | 811,200.00 | |
| 5. | EA | 208 | New 4-inch vitrified clay sanitary sewer lateral, complete in place for the unit price per each | _\$_ | 3,000.00 | \$ (| 624,000.00 | |
| 6. | EA | 208 | New sanitary sewer lateral cleanout, complete in place for the unit price per each | \$ | 250.00 | \$ | 52,000.00 | |
| 7. | EA | 6 | New vitrified clay rodding inlet, complete in place for the unit price per each | _\$_ | 500.00 | \$ | 3,000.00 | |
| 8. | EA | 10 | New 48-inch sanitary sewer manhole, complete in place for the unit price per each | \$ | 7,000.00 | \$ | 70,000.00 | |
| 9. | EA | 5 | Removal of existing sanitary sewer manhole, complete in place for the unit price per each | \$ | 4,500.00 | \$ | 22,500.00 | |
| 10. | EA | 5 | Utility crossing modification, complete in place for the unit price per each | \$ | 6,000.00 | \$ | 30,000.00 | |
| 11. | LS | 1 | Thermoplastic Traffic Stripes, Pavement Markers and Pavement Markings, complete in place for the lump sum price | \$ | 2,600.00 | \$ | 2,600.00 | |
| | | | TOTAL BID PRICE | \$ | 1,78 | 7,30 | 00.00 | |

TOTAL BID PRICE: One Million, Seven Hundred Eighty-seven Thousand, Three Hundred dollars and zero cents. (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder William S. Stewart, President

RGW Construction,Inc.

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

| NAME OF SUBCONTRACTOR | LICENSE NUMBER | LOCATION OF/ PLACE OF BUSINESS | TYPE & PERCENTAGE OF WORK |
|-----------------------|--|-----------------------------------|---------------------------|
| 1. | | | |
| 2. | | | |
| 3. | | | |
| 4. | | | |
| 5. | + | | |
| 6. | | | |
| 7. | | | |
| 8. | processor of the control of the control of | | |
| 9. | | | |
| 10. | | | |
| 11. | | | |
| 12. | | | - |
| 13. | | | |
| 14. | | | |
| 15. | | | |

END LIST OF SUBCONTRACTORS

Title: Sanitary Sewer Main Replacement at Various Locations in Antioch, CA (P.W. 632-2) Bids to be received by 2:00 p.m. June 3, 2014 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

| Item No. | Unit | Quantity | Description | Unit Price | Extended Amount |
|-------------|------|----------|---|------------|--------------------|
| 1. | LS | 1 | Mobilization, complete in place for the lump sum price | \$105,000 | \$ 105,000 |
| 2. | LS | 1 | Water pollution control, complete in place for the lump sum price | \$ 3,000 | \$ 3,000 |
| 3. | LS | 1 | Traffic control, complete in place for the lump sum price | \$ 145,000 | \$ 145,000 |
| 4. | LF | 6,240 | New 8-inch vitrified clay sanitary sewer main, complete in place for the unit price per lineal foot | \$ 130 | \$ 811,200 |
| 5. | EA | 208 | New 4-inch vitrified clay sanitary sewer lateral, complete in place for the unit price per each | \$ 2,375 | \$ 483,600 |
| 6. | EA | 208 | New sanitary sewer lateral cleanout, complete in place for the unit price per each | \$ 550 | \$114,400 |
| 7. | EA | 6 | New vitrified clay rodding inlet, complete in place for the unit price per each | \$ 1,700 | \$10,200 |
| 8. | EA | 10 | New 48-inch sanitary sewer manhole, complete in place for the unit price per each | \$ 10,000 | \$100,000 |
| 9. | EA | 5 | Removal of existing sanitary sewer manhole, complete in place for the unit price per each | \$ 1,800 | \$ 9,000 |
| 10. | EA | 5 | Utility crossing modification, complete in place for the unit price per each | \$ 4,000 | \$ 20,000 |
| 11. | LS | 1 | Thermoplastic Traffic Stripes, Pavement Markers and Pavement Markings, complete in place for the lump sum price | \$ 1,500 | \$ 1,500 |
| | | | TOTAL BID PRICE | \$ 1,802,0 | 900 |

TOTAL BID PRICE: one millien eight hundred and two thursand and nine hundred (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

| NAME OF SUBCONTRACTOR | LICENSE NUMBER | LOCATION OF/ PLACE OF BUSINESS | TYPE & PERCENTAGE OF WORK |
|-----------------------|-------------------|-----------------------------------|---------------------------|
| 1. MCK Services Inc. | 783116 | Concord, CA | Crind& Pauc - 9% |
| 2. | | | |
| 3. | | | |
| 4. | | | |
| 5. | | | |
| 6. | | | |
| 7. | | | |
| 8. | | | |
| 9. | | | |
| 10. | | | |
| 11. | | | |
| 12. | | | |
| 13. | | | |
| 14. | | | |
| 15. | | | |

END LIST OF SUBCONTRACTORS